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Q.1 Read the given statements and conclusions carefully. Assume that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts.

Statements:
All hotels are trucks.
Some trucks are rickshaws.
All rickshaws are trams.
Some trams are clouds.

Conclusions:
I. Some trams are trucks.
II. Some trams are hotels.
III. Some clouds are rickshaw.
Based on the above information, decide which of the given conclusions logically
follow(s) from the statement(s).

Ans 1. Only conclusion II follows.

2. Only conclusion III follows.

3. Only conclusion I follows.

4. Neither conclusion I nor II follows

Question ID : 630680370477
Option 1 ID : 6306801443290
Option 2 ID : 6306801443291
Option 3 ID : 6306801443289
Option 4 ID : 6306801443292

Status : Answered
Chosen Option : 3
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Q.2 If ‘<’ means ‘−’, ‘>’ means ‘+’, ‘=’ means ‘×’ and ‘$’ means ‘÷’, then what would be the
value of 21 > 81 $ 18 < 14? 

Ans 1. 14.5

2. 11.5

3. 13.5

4. 12.5

Question ID : 630680370493
Option 1 ID : 6306801443356
Option 2 ID : 6306801443353
Option 3 ID : 6306801443355
Option 4 ID : 6306801443354

Status : Answered
Chosen Option : 2

Q.3 In a certain code language, ‘NEWJERSEY’ is written as ‘124’, how is ‘SINGAPORE’
written in that code language?

Ans 1. 108

2. 107

3. 124

4. 104

Question ID : 630680370482
Option 1 ID : 6306801443311
Option 2 ID : 6306801443310
Option 3 ID : 6306801443312
Option 4 ID : 6306801443309

Status : Answered
Chosen Option : 4

Q.4 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statement(s).

Statements:
No dog is a cap.
Some bags are dogs.

Conclusions:
I. All caps are dogs.
II. Some dogs are definitely not caps.

Ans 1. Only conclusion II follows

2. Both conclusions I and II follow

3. Either conclusion I or II follows

4. Neither conclusion I nor II follows

Question ID : 630680370475
Option 1 ID : 6306801443284
Option 2 ID : 6306801443282
Option 3 ID : 6306801443281
Option 4 ID : 6306801443283

Status : Answered
Chosen Option : 4

 
           

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.5 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.
DEF, HIJK, MNOPQ, STUVWX, ?

Ans 1. ZCDEFGH

2. ZEFGHIJ

3. ZBCEFGH

4. ZABCDEF

Question ID : 630680370479
Option 1 ID : 6306801443299
Option 2 ID : 6306801443300
Option 3 ID : 6306801443298
Option 4 ID : 6306801443297

Status : Answered
Chosen Option : 4

Q.6 How many symbols are there in the following series which are preceded by vowels?
E @ 5 C Q % J 9 A 4 * U * B 2 5 > V + P 7 Z ^ ( S 7 M V 6 # J L : S

Ans 1. 5

2. 3

3. 4

4. 2

Question ID : 630680370487
Option 1 ID : 6306801443331
Option 2 ID : 6306801443329
Option 3 ID : 6306801443330
Option 4 ID : 6306801443332

Status : Answered
Chosen Option : 4

Q.7 It was Sunday on 1 Jan 2006. What was the day of the week on 1 Jan 2011?

Ans 1. Friday

2. Monday

3. Sunday

4. Saturday

Question ID : 630680370474
Option 1 ID : 6306801443280
Option 2 ID : 6306801443279
Option 3 ID : 6306801443277
Option 4 ID : 6306801443278

Status : Answered
Chosen Option : 4
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Q.8 If ‘+’ means ‘÷’, ‘×’ means ‘−’, ‘÷’ means ‘+’ and ‘−’ means ‘×’, then what will come in
place of the question mark (?) in the following equation?
36 + 6 – 2 ÷ 4 × 6 = ?

Ans 1. 28

2. 24

3. 26

4. 10

Question ID : 630680370495
Option 1 ID : 6306801443364
Option 2 ID : 6306801443362
Option 3 ID : 6306801443363
Option 4 ID : 6306801443361

Status : Answered
Chosen Option : 4

Q.9 Select the term from among the given options that can replace the question mark (?) in
the following series.
A, D, H, M, S, ?

Ans 1. X

2. Z

3. Y

4. F

Question ID : 630680370483
Option 1 ID : 6306801443314
Option 2 ID : 6306801443313
Option 3 ID : 6306801443316
Option 4 ID : 6306801443315

Status : Answered
Chosen Option : 2

Q.10 If Q means ‘+’, J means ‘×’, T means ‘−’ and K means ‘÷’,
then 52 K 26 Q 6 J 12 T 8 = ? 

Ans 1. 66

2. 96

3. 106

4. 86

Question ID : 630680370494
Option 1 ID : 6306801443357
Option 2 ID : 6306801443359
Option 3 ID : 6306801443360
Option 4 ID : 6306801443358

Status : Answered
Chosen Option : 1
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Q.11 Select the number that will come next in the given series.
25, 225, 625, 1225, 2025

Ans 1. 3025

2. 4025

3. 2520

4. 3530

Question ID : 630680370489
Option 1 ID : 6306801443338
Option 2 ID : 6306801443337
Option 3 ID : 6306801443339
Option 4 ID : 6306801443340

Status : Answered
Chosen Option : 1

Q.12 Ritika, Supriya, Shweta, Dipika, Sangya and Bandana are sitting around a round table
facing towards centre. Ritika is opposite to Supriya who is to the right of Dipika. Ritika
is between Shweta and Bandana. Bandana is not next to Dipika. Who is sitting to the
right of Sangya?

Ans 1. Supriya

2. Dipika

3. Shweta

4. Bandana

Question ID : 630680370471
Option 1 ID : 6306801443266
Option 2 ID : 6306801443267
Option 3 ID : 6306801443265
Option 4 ID : 6306801443268

Status : Answered
Chosen Option : 4

Q.13 Six people P, Q, R, S, T and U sit in two rows. Three people are sitting in each row. S is
second to the left of U. R is the neighbour of T and sitting diagonally opposite to S and
Q is the neighbour of U, then who will sit opposite to Q?

Ans 1. P

2. T

3. R

4. Q

Question ID : 630680370472
Option 1 ID : 6306801443269
Option 2 ID : 6306801443270
Option 3 ID : 6306801443271
Option 4 ID : 6306801443272

Status : Answered
Chosen Option : 2
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Q.14 If ‘×’ stands for ‘−’, ‘÷’ stands for ‘+’, ‘+’ stands for ‘÷’ and ‘–’ stands for ‘×’, then which
of the following equations is correct? 

Ans 1. 6 ÷ 14 − 10 × 20 + 6 = 142.66

2. 3 × 2 + 3 ÷ 6 − 3 = 21

3. 10 − 5 ÷ 5 × 10 + 5 = 61

4. 4 ÷ 5 − 3 + 5 × 3 = 8

Question ID : 630680370492
Option 1 ID : 6306801443352
Option 2 ID : 6306801443351
Option 3 ID : 6306801443349
Option 4 ID : 6306801443350

Status : Answered
Chosen Option : 1

Q.15 Select the number that will come next in the given series.
127, 116, 103, 88, 75

Ans 1. 74

2. 64

3. 44

4. 54

Question ID : 630680370490
Option 1 ID : 6306801443343
Option 2 ID : 6306801443342
Option 3 ID : 6306801443344
Option 4 ID : 6306801443341

Status : Answered
Chosen Option : 2

Q.16 Four words have been given, out of which three are alike in some manner and one is
different. Select the one that is different.
(The words must be considered as meaningful English words and must not be related
to each other based on the number of letters/number of consonants/vowels in the
word.)

Ans 1. Fahrenheit

2. Kelvin

3. Metre

4. Celsius

Question ID : 630680370481
Option 1 ID : 6306801443306
Option 2 ID : 6306801443307
Option 3 ID : 6306801443308
Option 4 ID : 6306801443305

Status : Answered
Chosen Option : 3
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Q.17 Four word-pairs have been given, out of which three are alike in some manner and one
is different. Select the one that is different.
(The words must be considered as meaningful English words and must not be related
to each other based on the number of letters/number of consonants/vowels in the
word.)

Ans 1. Bear -cub

2. Ornithology - birds

3. Dog -puppy

4. Cow -calf

Question ID : 630680370480
Option 1 ID : 6306801443304
Option 2 ID : 6306801443303
Option 3 ID : 6306801443301
Option 4 ID : 6306801443302

Status : Answered
Chosen Option : 2

Q.18 How many days will be there from 26th January 2023 to 15th May 2023(both days
included)?

Ans 1. 112

2. 110

3. 113

4. 111

Question ID : 630680370473
Option 1 ID : 6306801443275
Option 2 ID : 6306801443273
Option 3 ID : 6306801443276
Option 4 ID : 6306801443274

Status : Answered
Chosen Option : 2

Q.19 Select the number that will come next in the given series.
38, 36, 32, 30, 26, 24

Ans 1. 18

2. 26

3. 20

4. 23

Question ID : 630680370491
Option 1 ID : 6306801443346
Option 2 ID : 6306801443348
Option 3 ID : 6306801443345
Option 4 ID : 6306801443347

Status : Answered
Chosen Option : 1
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Q.20 Four word-pairs have been given, out of which three are alike in some manner and one
is different. Select the one that is different.

Ans 1. Pen and pencil

2. Tea and cup

3. Water and bucket

4. Milk and glass

Question ID : 630680370486
Option 1 ID : 6306801443327
Option 2 ID : 6306801443325
Option 3 ID : 6306801443328
Option 4 ID : 6306801443326

Status : Answered
Chosen Option : 1

Q.21 Four letter clusters have been given, out of which three are alike in some manner and
one is different. Select the one that is different.

Ans 1. ACGM

2. GIMU

3. KMQW

4. EGKQ

Question ID : 630680370484
Option 1 ID : 6306801443318
Option 2 ID : 6306801443319
Option 3 ID : 6306801443320
Option 4 ID : 6306801443317

Status : Answered
Chosen Option : 2

Q.22 Read the given statements and conclusions carefully. Assume that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts.

Statements:
Some girls are birds.
All birds are animals.

Conclusions:
I. Some girls are animals.
II. Some animals are girls.
Based on the above information, which of the following is correct?

Ans 1. Neither conclusion I nor II follows

2. Both conclusions I and II follows.

3. Only conclusion II follows

4. Only conclusion I follows.

Question ID : 630680370476
Option 1 ID : 6306801443287
Option 2 ID : 6306801443286
Option 3 ID : 6306801443288
Option 4 ID : 6306801443285

Status : Answered
Chosen Option : 2
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Q.23 Lucknow: Central Drug Research Institute::Dehradun:?
What will come in place of question mark?

Ans 1. Forest Research Institute

2. Central Rice Research Institute

3. National sugar Research Institute

4. National School of Drama

Question ID : 630680370488
Option 1 ID : 6306801443335
Option 2 ID : 6306801443334
Option 3 ID : 6306801443336
Option 4 ID : 6306801443333

Status : Answered
Chosen Option : 1

Q.24 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.
GT, MN, ?, YB

Ans 1. SH

2. SK

3. JH

4. TS

Question ID : 630680370478
Option 1 ID : 6306801443294
Option 2 ID : 6306801443295
Option 3 ID : 6306801443293
Option 4 ID : 6306801443296

Status : Answered
Chosen Option : 1

Q.25 Four words have been given, out of which three are alike in some manner and one is
different. Select the one that is different.

Ans 1. Watt

2. Time

3. Ampere

4. Second

Question ID : 630680370485
Option 1 ID : 6306801443321
Option 2 ID : 6306801443324
Option 3 ID : 6306801443322
Option 4 ID : 6306801443323

Status : Answered
Chosen Option : 2

Section : General Awareness
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Q.1 Which among the following was awarded the Major Dhyan Chand Khel Ratna Award
2022?

Ans 1. Deep Grace Ekka

2. Bhakti Pradip Kulkarni

3. Avinash Mukund Sable

4. Sharath Kamal Achanta

Question ID : 630680370447
Option 1 ID : 6306801443169
Option 2 ID : 6306801443170
Option 3 ID : 6306801443172
Option 4 ID : 6306801443171

Status : Answered
Chosen Option : 4

Q.2 As per the Jammu and Kashmir Official Languages Act 2020, ___________ is one of
the four languages to be used for official purposes of the Union Territory.

Ans 1. Purgi

2. Dogri

3. Meiteilon

4. Kokborok

Question ID : 630680370461
Option 1 ID : 6306801443227
Option 2 ID : 6306801443228
Option 3 ID : 6306801443225
Option 4 ID : 6306801443226

Status : Answered
Chosen Option : 2

Q.3 How does the increase in interest rates affect the demand for money in an economy?
Ans 1. The demand for money decreases

2. The demand for money remains constant

3. There is no demand for money at all

4. The demand for money increases

Question ID : 630680370452
Option 1 ID : 6306801443189
Option 2 ID : 6306801443191
Option 3 ID : 6306801443192
Option 4 ID : 6306801443190

Status : Answered
Chosen Option : 1
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Q.4 Shah Mal, a peasant leader from Uttar Pradesh, was killed in a battle in the year
___________.

Ans 1. 1857

2. 1861

3. 1863

4. 1859

Question ID : 630680370455
Option 1 ID : 6306801443202
Option 2 ID : 6306801443204
Option 3 ID : 6306801443203
Option 4 ID : 6306801443201

Status : Not Answered
Chosen Option : --

Q.5 In India, the Mangrove Forests are generally found in ___________.
Ans 1. some areas of the Western Ghats, Lakshadweep, Andaman and Nicobar Islands,

upper parts of Assam and Tamil Nadu coast.

2. deltas of the Ganga, the Mahanadi, the Krishna, the Godavari and the Kaveri.

3. the northeastern states, along the foothills of the Himalayas, Jharkhand, West
Odisha, Chhattisgarh, and on the eastern slopes of the Western Ghats.

4. the north-western part of the country, including semi-arid areas of Gujarat, Rajasthan,
Madhya Pradesh, Chhattisgarh, Uttar Pradesh and Haryana.

Question ID : 630680370467
Option 1 ID : 6306801443249
Option 2 ID : 6306801443252
Option 3 ID : 6306801443250
Option 4 ID : 6306801443251

Status : Answered
Chosen Option : 1

Q.6 ___________ was awarded the Padma Vibhushan 2023 for Science and Engineering.
Ans 1. Arvind Kumar

2. Mahendra Pal

3. Bakshi Ram

4. Srinivas Varadhan

Question ID : 630680370449
Option 1 ID : 6306801443178
Option 2 ID : 6306801443179
Option 3 ID : 6306801443177
Option 4 ID : 6306801443180

Status : Not Answered
Chosen Option : --
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Q.7 Which of the following actors is associated with the ‘Don’t Hesitate, Do Report, Stay
Safe’ campaign (to improve the online safety of women) launched in August 2022, by
Meta, the National Commission for Women and MARD (Men Against Rape and
Discrimination)?

Ans 1. Farhan Akhtar

2. Ayushmann Khurrana

3. Ali Fazal

4. Abhay Deol

Question ID : 630680370450
Option 1 ID : 6306801443184
Option 2 ID : 6306801443183
Option 3 ID : 6306801443182
Option 4 ID : 6306801443181

Status : Answered
Chosen Option : 1

Q.8 As per Haj Policy 2023 announced by the Ministry of Minority Affairs, of the total
number of Haj seats allocated to India, ___________ were allocated to the Haj
Committee of India and the rest to Haj Group Organisers.

Ans 1. 25%

2. 50%

3. 80%

4. 75%

Question ID : 630680370451
Option 1 ID : 6306801443188
Option 2 ID : 6306801443187
Option 3 ID : 6306801443185
Option 4 ID : 6306801443186

Status : Not Answered
Chosen Option : --

Q.9 The law of diminishing marginal product states that the marginal product of an input
___________.

Ans 1. initially rises with a rise in its employment level; but starts falling after reaching a
certain level of employment

2. keeps falling as the employment level rises

3. initially falls with a rise in its employment level; but starts rising after reaching a
certain level of employment

4. keeps rising as the employment level rises

Question ID : 630680370453
Option 1 ID : 6306801443196
Option 2 ID : 6306801443193
Option 3 ID : 6306801443195
Option 4 ID : 6306801443194

Status : Answered
Chosen Option : 1
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Q.10 As per the Census of India 2011, of the total population of the country, ___________
are Muslims.

Ans 1. 36.5%

2. 21.7%

3. 48.1%

4. 14.2%

Question ID : 630680370468
Option 1 ID : 6306801443255
Option 2 ID : 6306801443254
Option 3 ID : 6306801443256
Option 4 ID : 6306801443253

Status : Answered
Chosen Option : 4

Q.11 Of the Indian towns/cities listed below, ___________ generally experiences the coldest
climate.

Ans 1. Bikaner

2. Drass

3. Kolkata

4. Jaisalmer

Question ID : 630680370465
Option 1 ID : 6306801443244
Option 2 ID : 6306801443242
Option 3 ID : 6306801443241
Option 4 ID : 6306801443243

Status : Answered
Chosen Option : 2

Q.12 The autobiography of sitar maestro Pandit Ravi Shankar is titled ‘___________’.
Ans 1. My Melodies, My Life

2. The Melody of My Life

3. My Music, My Life

4. The Music of My Life

Question ID : 630680370459
Option 1 ID : 6306801443217
Option 2 ID : 6306801443219
Option 3 ID : 6306801443218
Option 4 ID : 6306801443220

Status : Answered
Chosen Option : 1

Q.13 Ulothrix is a ___________ algae.
Ans 1. brown

2. blue-green

3. red

4. green

Question ID : 630680370470
Option 1 ID : 6306801443264
Option 2 ID : 6306801443262
Option 3 ID : 6306801443263
Option 4 ID : 6306801443261

Status : Not Answered
Chosen Option : --
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Q.14 As per the Census of India 2011, the female population of the country increased by
___________ between 2001 and 2011.

Ans 1. 9.67%

2. 11.38%

3. 24.95%

4. 18.12%

Question ID : 630680370469
Option 1 ID : 6306801443257
Option 2 ID : 6306801443259
Option 3 ID : 6306801443260
Option 4 ID : 6306801443258

Status : Answered
Chosen Option : 4

Q.15 The annual International Kite Festival of Gujarat generally coincides with the festival of
___________.

Ans 1. Janmashtami

2. Makar Sankranti

3. Dussehra

4. Shivaratri

Question ID : 630680370463
Option 1 ID : 6306801443235
Option 2 ID : 6306801443233
Option 3 ID : 6306801443234
Option 4 ID : 6306801443236

Status : Answered
Chosen Option : 2

Q.16 Chhath Puja is celebrated twice during a Hindu calendar year - in the months of
___________.

Ans 1. Chaitra and Kartika

2. Asadha and Magha

3. Vaisakha and Bhadrapada

4. Shravana and Pausa

Question ID : 630680370464
Option 1 ID : 6306801443239
Option 2 ID : 6306801443240
Option 3 ID : 6306801443238
Option 4 ID : 6306801443237

Status : Answered
Chosen Option : 1

 
          

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.17 As on 1 June 2023, the Central Institute of Indian Languages runs centres for the four
Classical Languages. Which of the following is NOT one of those languages?

Ans 1. Odia

2. Telugu

3. Kannada

4. Sanskrit

Question ID : 630680370462
Option 1 ID : 6306801443232
Option 2 ID : 6306801443231
Option 3 ID : 6306801443230
Option 4 ID : 6306801443229

Status : Answered
Chosen Option : 4

Q.18 Which of the following is a long peninsular river that flows towards the west and forms
estuaries?

Ans 1. Krishna

2. Kaveri

3. Mahanadi

4. Tapi

Question ID : 630680370466
Option 1 ID : 6306801443247
Option 2 ID : 6306801443248
Option 3 ID : 6306801443246
Option 4 ID : 6306801443245

Status : Answered
Chosen Option : 4

Q.19 The Birsa Munda International _____ Stadium was inaugurated in Rourkela, Odisha, in
January 2023.

Ans 1. Cricket

2. Football

3. Athletic

4. Hockey

Question ID : 630680370448
Option 1 ID : 6306801443175
Option 2 ID : 6306801443174
Option 3 ID : 6306801443173
Option 4 ID : 6306801443176

Status : Answered
Chosen Option : 4
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Q.20 Which of the following Women’s Premier League (WPL - cricket) teams is owned by
Adani Sportsline Private Limited, as of June 2023?

Ans 1. Gujarat Giants

2. Royal Challengers Bangalore

3. Mumbai Indians

4. UP Warriorz

Question ID : 630680370446
Option 1 ID : 6306801443166
Option 2 ID : 6306801443168
Option 3 ID : 6306801443167
Option 4 ID : 6306801443165

Status : Answered
Chosen Option : 1

Q.21 ___________ presided over the Karachi session of the Indian National Congress in
1931.

Ans 1. Subhash Chandra Bose

2. Rajendra Prasad

3. Vallabhbhai Patel

4. Jawaharlal Nehru

Question ID : 630680370454
Option 1 ID : 6306801443197
Option 2 ID : 6306801443199
Option 3 ID : 6306801443200
Option 4 ID : 6306801443198

Status : Answered
Chosen Option : 1

Q.22 The Mughals defeated the last Sultan of Delhi under the leadership of ___________.
Ans 1. Akbar

2. Jehangir

3. Babur

4. Humayun

Question ID : 630680370456
Option 1 ID : 6306801443207
Option 2 ID : 6306801443208
Option 3 ID : 6306801443206
Option 4 ID : 6306801443205

Status : Answered
Chosen Option : 3

Q.23 Which of the following languages was declared a ‘Classical Language’ of India in
2014?

Ans 1. Kannada

2. Telugu

3. Odia

4. Malayalam

Question ID : 630680370460
Option 1 ID : 6306801443222
Option 2 ID : 6306801443221
Option 3 ID : 6306801443223
Option 4 ID : 6306801443224

Status : Answered
Chosen Option : 2

 
           

    

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.24 Chronicler ___________ was critical of Sultan Muhammad Tughlaq for appointing
people of low birth to high administrative post in Delhi.

Ans 1. Ziya-ud-Din Barani

2. Kishen Razran Indri

3. Ahmed Ayaz

4. Minhaj-i Siraj

Question ID : 630680370458
Option 1 ID : 6306801443214
Option 2 ID : 6306801443215
Option 3 ID : 6306801443216
Option 4 ID : 6306801443213

Status : Not Answered
Chosen Option : --

Q.25 Chiefs with in the empire were given the title of ‘___________’ by the Chola kings.
Ans 1. Vellanvagai

2. Pallichchhandam

3. Tirunamattukkani

4. Araiyar

Question ID : 630680370457
Option 1 ID : 6306801443210
Option 2 ID : 6306801443212
Option 3 ID : 6306801443211
Option 4 ID : 6306801443209

Status : Answered
Chosen Option : 3

Q.1

Ans 1. 

2. 

3. 

4. 

Question ID : 630680370511
Option 1 ID : 6306801443426
Option 2 ID : 6306801443425
Option 3 ID : 6306801443428
Option 4 ID : 6306801443427

Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude (Basic Arithmetic Skill)
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Q.2

Ans 1. 

2. 

3. 

4. 

Question ID : 630680370513
Option 1 ID : 6306801443434
Option 2 ID : 6306801443433
Option 3 ID : 6306801443435
Option 4 ID : 6306801443436

Status : Answered
Chosen Option : 1

Q.3

Ans 1. 

2. 

3. 

4. 

Question ID : 630680370499
Option 1 ID : 6306801443378
Option 2 ID : 6306801443380
Option 3 ID : 6306801443379
Option 4 ID : 6306801443377

Status : Answered
Chosen Option : 2

Q.4 A sum of money becomes 16/5 of itself in 15 years at certain rate of simple interest.
Find the rate of interest.

Ans 1. 15.66%

2. 12%

3. 14.66%

4. 10%

Question ID : 630680370508
Option 1 ID : 6306801443414
Option 2 ID : 6306801443416
Option 3 ID : 6306801443415
Option 4 ID : 6306801443413

Status : Answered
Chosen Option : 2
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Q.5

Ans 1. 

2. 

3. 

4. 

Question ID : 630680370497
Option 1 ID : 6306801443372
Option 2 ID : 6306801443371
Option 3 ID : 6306801443369
Option 4 ID : 6306801443370

Status : Answered
Chosen Option : 4

Q.6

Ans 1. 

2. 

3. 

4. 

Question ID : 630680370501
Option 1 ID : 6306801443386
Option 2 ID : 6306801443387
Option 3 ID : 6306801443388
Option 4 ID : 6306801443385

Status : Answered
Chosen Option : 4

Q.7

Ans
1. 

2. 

3. 

4. 

Question ID : 630680370514
Option 1 ID : 6306801443438
Option 2 ID : 6306801443437
Option 3 ID : 6306801443440
Option 4 ID : 6306801443439

Status : Answered
Chosen Option : 3
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Q.8

Ans
1. 

2. 

3. 

4. 

Question ID : 630680370520
Option 1 ID : 6306801443462
Option 2 ID : 6306801443461
Option 3 ID : 6306801443463
Option 4 ID : 6306801443464

Status : Answered
Chosen Option : 4

Q.9 Calculate the amount on Rs. 4000 for 2 years at 6% per annum, compounded half
yearly.

Ans 1. Rs. 4600.5

2. Rs. 4512.5

3. Rs. 4502.4

4. Rs. 4625.25

Question ID : 630680370517
Option 1 ID : 6306801443450
Option 2 ID : 6306801443449
Option 3 ID : 6306801443452
Option 4 ID : 6306801443451

Status : Answered
Chosen Option : 2

Q.10

Ans 1. 

2. 

3. 

4. 

Question ID : 630680370515
Option 1 ID : 6306801443442
Option 2 ID : 6306801443441
Option 3 ID : 6306801443443
Option 4 ID : 6306801443444

Status : Not Answered
Chosen Option : --
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Q.11

Ans 1. 

2. 

3. 

4. 

Question ID : 630680370510
Option 1 ID : 6306801443421
Option 2 ID : 6306801443423
Option 3 ID : 6306801443424
Option 4 ID : 6306801443422

Status : Answered
Chosen Option : 1

Q.12

Ans 1. 

2. 

3. 

4. 

Question ID : 630680370505
Option 1 ID : 6306801443404
Option 2 ID : 6306801443403
Option 3 ID : 6306801443402
Option 4 ID : 6306801443401

Status : Answered
Chosen Option : 1

Q.13

Ans 1. 

2. 

3. 

4. 

Question ID : 630680370496
Option 1 ID : 6306801443367
Option 2 ID : 6306801443366
Option 3 ID : 6306801443365
Option 4 ID : 6306801443368

Status : Answered
Chosen Option : 2
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Q.14

Ans 1. 

2. 

3. 

4. 

Question ID : 630680370503
Option 1 ID : 6306801443395
Option 2 ID : 6306801443394
Option 3 ID : 6306801443393
Option 4 ID : 6306801443396

Status : Answered
Chosen Option : 1

Q.15

Ans 1. 

2. 

3. 

4. 

Question ID : 630680370504
Option 1 ID : 6306801443397
Option 2 ID : 6306801443400
Option 3 ID : 6306801443398
Option 4 ID : 6306801443399

Status : Answered
Chosen Option : 2

Q.16

Ans 1. 

2. 

3. 

4. 

Question ID : 630680370506
Option 1 ID : 6306801443406
Option 2 ID : 6306801443407
Option 3 ID : 6306801443408
Option 4 ID : 6306801443405

Status : Answered
Chosen Option : 4
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Q.17

Ans 1. 

2. 

3. 

4. 

Question ID : 630680370500
Option 1 ID : 6306801443383
Option 2 ID : 6306801443384
Option 3 ID : 6306801443381
Option 4 ID : 6306801443382

Status : Answered
Chosen Option : 4

Q.18

Ans 1. 

2. 

3. 

4. 

Question ID : 630680370507
Option 1 ID : 6306801443412
Option 2 ID : 6306801443411
Option 3 ID : 6306801443410
Option 4 ID : 6306801443409

Status : Answered
Chosen Option : 3

Q.19 To create a cylinder with a height of 4 cm, a rectangular piece of paper measuring 11
cm × 4 cm is folded without overlapping. Find the cylinder's volume.

Ans 1. 121

2. 11/π

3. 121/π

4. 11 π

Question ID : 630680370512
Option 1 ID : 6306801443431
Option 2 ID : 6306801443429
Option 3 ID : 6306801443432
Option 4 ID : 6306801443430

Status : Answered
Chosen Option : 3
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Q.20 Subir can swim in still water at 15 km/h but takes thrice as long to swim upstream than
downstream. Then the speed of the stream is

Ans 1. 3.5 kmph

2. 7.5 kmph

3. 7 kmph

4. 4 kmph

Question ID : 630680370509
Option 1 ID : 6306801443418
Option 2 ID : 6306801443417
Option 3 ID : 6306801443419
Option 4 ID : 6306801443420

Status : Not Answered
Chosen Option : --

Q.21 Ranjit walks at a speed of 9 kmph. A train coming from behind him at 36 km/h passes
by him in 40 seconds. Find the length of the train.

Ans 1. 200m

2. 300m

3. 600m

4. 900m

Question ID : 630680370518
Option 1 ID : 6306801443453
Option 2 ID : 6306801443454
Option 3 ID : 6306801443455
Option 4 ID : 6306801443456

Status : Answered
Chosen Option : 2

Q.22

Ans 1. 

2. 

3. 

4. 

Question ID : 630680370502
Option 1 ID : 6306801443392
Option 2 ID : 6306801443391
Option 3 ID : 6306801443390
Option 4 ID : 6306801443389

Status : Answered
Chosen Option : 2
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Q.23

Ans 1. 

2. 

3. 

4. 

Question ID : 630680370519
Option 1 ID : 6306801443459
Option 2 ID : 6306801443458
Option 3 ID : 6306801443457
Option 4 ID : 6306801443460

Status : Answered
Chosen Option : 1

Q.24

Ans 1. 

2. 

3. 

4. 

Question ID : 630680370516
Option 1 ID : 6306801443446
Option 2 ID : 6306801443445
Option 3 ID : 6306801443447
Option 4 ID : 6306801443448

Status : Answered
Chosen Option : 3

Q.25

Ans 1. 

2. 

3. 

4. 

Question ID : 630680370498
Option 1 ID : 6306801443375
Option 2 ID : 6306801443376
Option 3 ID : 6306801443374
Option 4 ID : 6306801443373

Status : Answered
Chosen Option : 4

Section : English Language (Basic Knowledge)
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Q.1 Select the most appropriate option to fill in the blank.
When it comes to standing up for himself, John is ______.

Ans 1. no bark and no bite

2. all bark and no bite

3. all bark and bite

4. no bark and all bite

Question ID : 630680370438
Option 1 ID : 6306801443136
Option 2 ID : 6306801443135
Option 3 ID : 6306801443134
Option 4 ID : 6306801443133

Status : Answered
Chosen Option : 2

Q.2 Which of the following sentences has used all the correct spellings?
Ans 1. "By incorporating brainstroming sessions, research, and experimentation, we

developed effective strategies for creating inovative products."

2. "By inncorporating brainstorming sessions, research, and experimentation, we
developed efective strategies for creating innovative products."

3. "By incorporating brainstorming sessions, research, and experimentation, we
developed effective strategies for creating innovative products."

4. "By incorporating brainstroming sessions, research, and experimentation, we
developed effective strategeis for creating innovative products."

Question ID : 630680370443
Option 1 ID : 6306801443155
Option 2 ID : 6306801443153
Option 3 ID : 6306801443154
Option 4 ID : 6306801443156

Status : Answered
Chosen Option : 3

Q.3 Select the most appropriate option to fill in the blanks.

______ the early morning hours, the dedicated athlete had been training tirelessly,
pushing beyond her limits. _______ of her unwavering commitment and discipline, she
had developed remarkable strength and endurance. _________, when the competition
day arrived, she was fully prepared to give her best performance. ____ every obstacle
she had faced, she had grown stronger, both physically and mentally. Therefore, it was
no surprise that she emerged victorious, ____ standing on the podium, her
perseverance and hard work paying off.

Ans 1. since; Because; Therefore; For; proudly

2. since; Because; Therefore; Therefore; proud

3. since; Because; And; Therefore; proudly

4. from; Because; Because; From; proudly

Question ID : 630680370431
Option 1 ID : 6306801443106
Option 2 ID : 6306801443107
Option 3 ID : 6306801443108
Option 4 ID : 6306801443105

Status : Answered
Chosen Option : 3
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Q.4 Select the most appropriate ANTONYM of the given word.
Composure

Ans 1. Equilibrium

2. Placidity

3. Turbulence

4. Fortitude

Question ID : 630680370440
Option 1 ID : 6306801443141
Option 2 ID : 6306801443144
Option 3 ID : 6306801443143
Option 4 ID : 6306801443142

Status : Answered
Chosen Option : 3

Q.5 Select the most appropriate option to fill in the blank.
I need to _____ on my reading before the exam.

Ans 1. catching up

2. catch over

3. caught up

4. catch up

Question ID : 630680370434
Option 1 ID : 6306801443120
Option 2 ID : 6306801443117
Option 3 ID : 6306801443118
Option 4 ID : 6306801443119

Status : Answered
Chosen Option : 4

Q.6 Select the option that can be used as a one-word substitute for the underlined
segment to fill in the blank.
A ___________ is a person who loads and unloads ships, showcasing strength and
expertise in handling heavy loads.

Ans 1. stevedore

2. bosun

3. boatswain

4. wellerman

Question ID : 630680370425
Option 1 ID : 6306801443083
Option 2 ID : 6306801443081
Option 3 ID : 6306801443084
Option 4 ID : 6306801443082

Status : Answered
Chosen Option : 1
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Q.7 Select the option that will correct the underlined part of the given sentence. In case no
correction is needed, select 'No correction needed'.
The local charity provide support and assistance to the indigent population by offering
food, shelter and resources to those in need.

Ans 1. providing supports

2. provided support

3. provide supports

4. No correction needed

Question ID : 630680370427
Option 1 ID : 6306801443090
Option 2 ID : 6306801443091
Option 3 ID : 6306801443089
Option 4 ID : 6306801443092

Status : Answered
Chosen Option : 2

Q.8 Select the most appropriate homophones to fill in the blanks.
"The joyful sound of the bells filled the air as the church bells began to _____, while
the chef carefully used a knife to ____ the skin off the ripe mango."

Ans 1. peel; peal

2. peal; peal

3. peal; peel

4. peel; peel

Question ID : 630680370445
Option 1 ID : 6306801443161
Option 2 ID : 6306801443162
Option 3 ID : 6306801443164
Option 4 ID : 6306801443163

Status : Answered
Chosen Option : 3

Q.9 Sentences of a paragraph are given below in jumbled order, except the 1st and 6th
sentences. Arrange the sentences in the correct order to form a meaningful and
coherent paragraph.
1. Once upon a time in a small village, there lived a humble farmer named Samuel.
2. One year, a severe drought struck the village and the scorching sun parched the
land, and the crops withered away.
3. He was known for his hard work, honesty and unwavering faith in the power of
prayer.
4.The villagers were disheartened, fearing the loss of their livelihoods and the ensuing
famine.
5. Every day, Samuel would rise before dawn, offer his prayers to the divine and then
diligently tend to his fields.
6. Despite the dire circumstances, Samuel remained steadfast in his belief that prayer
could bring about miracles.

Ans 1. 1, 4, 2, 5, 3, 6

2. 1, 3, 4, 5, 2, 6

3. 1, 3, 5, 2, 4, 6

4. 1, 5, 3, 2, 4, 6

Question ID : 630680370429
Option 1 ID : 6306801443099
Option 2 ID : 6306801443100
Option 3 ID : 6306801443098
Option 4 ID : 6306801443097

Status : Answered
Chosen Option : 3
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Q.10 Select the most appropriate option to fill in the blank.
“______ That firework display was absolutely spectacular!"

Ans 1. Wow!

2. Alas!

3. Good grief!

4. Grrr!

Question ID : 630680370435
Option 1 ID : 6306801443122
Option 2 ID : 6306801443121
Option 3 ID : 6306801443124
Option 4 ID : 6306801443123

Status : Answered
Chosen Option : 1

Q.11 Select the most appropriate option to fill in the blank.
I couldn't attend the party ____ I had a prior commitment.

Ans 1. so

2. although

3. because

4. and

Question ID : 630680370433
Option 1 ID : 6306801443115
Option 2 ID : 6306801443113
Option 3 ID : 6306801443116
Option 4 ID : 6306801443114

Status : Answered
Chosen Option : 2

Q.12 Select the most appropriate homophones to fill in the blanks.
"As she approached the red light, she had to quickly apply the ____ to bring the car to
a halt without causing the glass vase on the seat to ___."

Ans 1. break; break

2. brake; break

3. break; brake

4. brake; brake

Question ID : 630680370444
Option 1 ID : 6306801443160
Option 2 ID : 6306801443159
Option 3 ID : 6306801443157
Option 4 ID : 6306801443158

Status : Answered
Chosen Option : 2
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Q.13 Select the most appropriate option to fill in the blanks.

______ the lush green trees, a gentle breeze rustled the leaves, carrying whispers of
enchantment. ______ the shade of a towering oak, a group of friends gathered for a
picnic, spreading a checkered blanket between the tree's strong branches. Their
laughter echoed over the meadow, bridging the gap _______ joy and serenity. As the
sun descended, casting a golden glow over the landscape, a few children strolled in
the meadow. The day melted into a tranquil evening, blending the colours of the sky
and the sounds of nature _____ a breath-taking tapestry.

Ans 1. among; Over; among; onto

2. between; Below; between; on

3. among; Under; between; into

4. between; Above; between; into

Question ID : 630680370430
Option 1 ID : 6306801443101
Option 2 ID : 6306801443102
Option 3 ID : 6306801443103
Option 4 ID : 6306801443104

Status : Answered
Chosen Option : 3

Q.14 Select the most appropriate synonym of the given word.
Figurative

Ans 1. Flowery

2. Authentic

3. Bona fide

4. Literal

Question ID : 630680370441
Option 1 ID : 6306801443146
Option 2 ID : 6306801443147
Option 3 ID : 6306801443148
Option 4 ID : 6306801443145

Status : Answered
Chosen Option : 2

Q.15 Select the most appropriate option to fill in the blanks.
The sun rose slowly, ____ a warm glow across the tranquil landscape. Birds chirped
cheerfully as they flew ____ through the clear blue sky. The wind blew gently, ___ the
leaves softly on the trees. The river flowed peacefully, ____ lazily through the lush
green valley. The hikers walked leisurely along the ____ trail, enjoying the scenic
beauty of their surroundings.

Ans 1. casting; grace; rustling; meandering; winds

2. casting; gracefully; rustling; meandering; winding

3. casting; gracefully; rustled; meanders; winding

4. casting; graciously; rustling; meandering; windings

Question ID : 630680370432
Option 1 ID : 6306801443112
Option 2 ID : 6306801443111
Option 3 ID : 6306801443110
Option 4 ID : 6306801443109

Status : Answered
Chosen Option : 2
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Q.16 Select the most appropriate option to fill in the blank.
You don't mind if I borrow your pen, ______?

Ans 1. do you

2. don’t you

3. did you

4. does you

Question ID : 630680370436
Option 1 ID : 6306801443128
Option 2 ID : 6306801443125
Option 3 ID : 6306801443126
Option 4 ID : 6306801443127

Status : Answered
Chosen Option : 1

Q.17 Select the option that can be used as a one-word substitute for the underlined
segment to fill in the blank.
After struggling with financial difficulties for months, Himang found himself unable to
pay his debts and declared himself _________.

Ans 1. insolvent

2. underprivileged

3. deprived

4. abstruse

Question ID : 630680370426
Option 1 ID : 6306801443088
Option 2 ID : 6306801443087
Option 3 ID : 6306801443086
Option 4 ID : 6306801443085

Status : Answered
Chosen Option : 1

Q.18 Select the most appropriate option to fill in the blank.
Despite their differences, Sarah and John realised they ____ when they both lost their
jobs.

Ans 1. were in the same yacht

2. were in the same canoe

3. were in the same ship

4. were in the same boat

Question ID : 630680370437
Option 1 ID : 6306801443129
Option 2 ID : 6306801443130
Option 3 ID : 6306801443131
Option 4 ID : 6306801443132

Status : Answered
Chosen Option : 4
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Q.19 Select the most appropriate ANTONYM of the given word.
Precautions

Ans 1. Prudence

2. Negligence

3. Canniness

4. Wariness

Question ID : 630680370439
Option 1 ID : 6306801443137
Option 2 ID : 6306801443140
Option 3 ID : 6306801443139
Option 4 ID : 6306801443138

Status : Answered
Chosen Option : 2

Q.20 Which of the following sentences has used all the correct spellings?
Ans 1. "Good greif! I can't handle these constant interuptions!"

2. "Good grief! I can't handal these constant intterruptions!"

3. "Good grief! I can't handle these constant interruptions!"

4. "Good grief! I can't handel these constant interrupptions!"

Question ID : 630680370442
Option 1 ID : 6306801443149
Option 2 ID : 6306801443150
Option 3 ID : 6306801443151
Option 4 ID : 6306801443152

Status : Answered
Chosen Option : 3

Q.21 Select the option that will correct the underlined part of the given sentence. In case no
correction is needed, select 'No correction needed'.
The child throw a tantrum at the grocery store, screaming and crying uncontrollably
when he couldn't get the candy he wanted.

Ans 1. throw a tantrums

2. No correction needed

3. throwing a tantrum

4. threw a tantrum

Question ID : 630680370428
Option 1 ID : 6306801443093
Option 2 ID : 6306801443096
Option 3 ID : 6306801443094
Option 4 ID : 6306801443095

Status : Answered
Chosen Option : 4
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Comprehension:
Read the following passage and answer the given questions
In a small village, Alex and Maya were best friends, admired for their inseparable bond. One
day, a manipulative traveller named Lucas arrived, pretending to be their friend. Unaware of
his true nature, Alex and Maya welcomed him.
Lucas saw an opportunity to exploit their friendship. He whispered lies, sowing doubt between
them. Their bond started to fade as misunderstandings grew.
The villagers warned Alex and Maya about Lucas' intentions, exposing his deceit. Feeling
hurt, they confronted him, standing united.
They broke free from Lucas' toxic influence, embracing their true friendship. Their bond grew
stronger, teaching the village about trust, loyalty and unity.
Inspired by their resilience, the villagers marvelled at their unwavering friendship. Alex and
Maya became symbols of true companionship, reminding everyone of friendship's power.
Their story spread a timeless reminder that true friends stand by each other through
challenges, shining like stars in the darkness.

SubQuestion No : 22
Q.22 Identify a suitable title for the passage.
Ans 1. The Power of True Friendship

2. The Power of Manipulation

3. The Power of Doubt

4. The Power of Lucas

Question ID : 630680370421
Option 1 ID : 6306801443067
Option 2 ID : 6306801443066
Option 3 ID : 6306801443068
Option 4 ID : 6306801443065

Status : Answered
Chosen Option : 1

Comprehension:
Read the following passage and answer the given questions
In a small village, Alex and Maya were best friends, admired for their inseparable bond. One
day, a manipulative traveller named Lucas arrived, pretending to be their friend. Unaware of
his true nature, Alex and Maya welcomed him.
Lucas saw an opportunity to exploit their friendship. He whispered lies, sowing doubt between
them. Their bond started to fade as misunderstandings grew.
The villagers warned Alex and Maya about Lucas' intentions, exposing his deceit. Feeling
hurt, they confronted him, standing united.
They broke free from Lucas' toxic influence, embracing their true friendship. Their bond grew
stronger, teaching the village about trust, loyalty and unity.
Inspired by their resilience, the villagers marvelled at their unwavering friendship. Alex and
Maya became symbols of true companionship, reminding everyone of friendship's power.
Their story spread a timeless reminder that true friends stand by each other through
challenges, shining like stars in the darkness.

SubQuestion No : 23
Q.23 Identify the inference that is NOT drawn from the passage.
Ans 1. True friendship shines even in adversity.

2. Friendship annihilates the power to overcome adversity.

3. Reliability and steadfastness are essential in friendship.

4. Friendship encourages and enlightens others.

Question ID : 630680370423
Option 1 ID : 6306801443073
Option 2 ID : 6306801443075
Option 3 ID : 6306801443076
Option 4 ID : 6306801443074

Status : Answered
Chosen Option : 2
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Comprehension:
Read the following passage and answer the given questions
In a small village, Alex and Maya were best friends, admired for their inseparable bond. One
day, a manipulative traveller named Lucas arrived, pretending to be their friend. Unaware of
his true nature, Alex and Maya welcomed him.
Lucas saw an opportunity to exploit their friendship. He whispered lies, sowing doubt between
them. Their bond started to fade as misunderstandings grew.
The villagers warned Alex and Maya about Lucas' intentions, exposing his deceit. Feeling
hurt, they confronted him, standing united.
They broke free from Lucas' toxic influence, embracing their true friendship. Their bond grew
stronger, teaching the village about trust, loyalty and unity.
Inspired by their resilience, the villagers marvelled at their unwavering friendship. Alex and
Maya became symbols of true companionship, reminding everyone of friendship's power.
Their story spread a timeless reminder that true friends stand by each other through
challenges, shining like stars in the darkness.

SubQuestion No : 24
Q.24 Select the most appropriate ANTONYM of the given word as used in the passage.

They broke free from Lucas' toxic influence, embracing their true friendship.
Ans 1. pernicious

2. altruistic

3. mephitic

4. virulent

Question ID : 630680370424
Option 1 ID : 6306801443078
Option 2 ID : 6306801443079
Option 3 ID : 6306801443077
Option 4 ID : 6306801443080

Status : Answered
Chosen Option : 2

Comprehension:
Read the following passage and answer the given questions
In a small village, Alex and Maya were best friends, admired for their inseparable bond. One
day, a manipulative traveller named Lucas arrived, pretending to be their friend. Unaware of
his true nature, Alex and Maya welcomed him.
Lucas saw an opportunity to exploit their friendship. He whispered lies, sowing doubt between
them. Their bond started to fade as misunderstandings grew.
The villagers warned Alex and Maya about Lucas' intentions, exposing his deceit. Feeling
hurt, they confronted him, standing united.
They broke free from Lucas' toxic influence, embracing their true friendship. Their bond grew
stronger, teaching the village about trust, loyalty and unity.
Inspired by their resilience, the villagers marvelled at their unwavering friendship. Alex and
Maya became symbols of true companionship, reminding everyone of friendship's power.
Their story spread a timeless reminder that true friends stand by each other through
challenges, shining like stars in the darkness.

SubQuestion No : 25
Q.25 Identify the tone of the passage.
Ans 1. Amusing but negative

2. Positive and uplifting

3. Nostalgic and solemn

4. Scheming and hypocritical
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